Wednesday &4th November
LC : I can solve problems involving subtraction by crossing out

Complete the sentences to create a story and draw a part-whole
model,

At first there were __ apples.
. . . . . Then __ were eaten.
. . ﬁ ﬁ EZ Now there are __ apples.

Some frogs are on a lily pad.
Three frogs jumped off and there are
three frogs remaining.

(Y’

Complete the sentences.

First there were ___ frogs. Then __ frogs
jumped off. Now there are __ frogs on
the lily pad.

In the ‘then’ picture, do the 3s show the
same thing? Why not?

What if 4 jumped off, how many frogs
would there have been at first?

Explain how you know.

Some cakes have been eaten.

There are 2 cakes left.

B

How many cakes could there have been,
and how many could have been eaten to
be left with 27

Explain your reasons.



